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There are 30 questions in all in this section.
All questions are compulsory:
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1. The psychological basis of tcaching-lcarning depends on
(A) Teaching style (B)  Course content
(C) Language (D) Socio-economic status

s a1 TR AR 6 T R FRAIE 2
- — e e —

fereqor- SATH 1
(A) aeATgA Al gg  faaawld
() (D) Frife-tas® TR,
o for primary schools

2.  According t0 RTE Act, 2009, the Pupil-Teacher rati

should be

(A) 25:1 B) 35:1

(€) 40:1 (D) 30:1

s A3, afufT, 2009 F TR e el & ford feremef}-areraes A
g1 =1t

@A) 25:1 B) 35:1

() 40:1 Jpr 30:1

'Midterm Exam' is an example of
(A) Creative Assessment
(B) Norm-rct’crcncea Assessment

() Summative Assessment

(D) Diagnostic Assessment indiresult.in Whatsapp -9352018749
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4.  Which disease is hereditary ?

(A) ADHD (B) Phenylkitonuria
(C) Parkinson's (D)  HIV-AIDS iﬁ
H-J7 T SR € 2
A) TILTAEL (B) GIFEEREl é
o
(C) RS JPr . 378 1.-TgH ;.
ot Which of the following is a performance test of intelligence ? *i
(A) Bhatia Battery (B) Rorschach test *%
(C) WAIS (D) Raven's SPM 4
Frefafad 3 ¥ SH-91 Ghg B R TR € 2

A e S (B)  Jat gler
(C) T=UIEIS. (0) YA H GEAH.
6. According to NCF 2005, the main goal of Mathematics education is
(A) Training of teachers
(B) Classroom learning
(C) Mathematisation of Child's thinking

(D) Course content of Mathematics :
o H.TF. 2005 & AR, MR Fwror 1 wyE R ¢
a)  fererent i s
(B) TR HETH - | ,

g aE & g &1 TS ‘ |

~ . D) fore &) fawaE indiresult.in whatsapp - 9352018749
@moiresuLs '
9632 }]\'ﬂ]ﬂmﬂﬂl - %



indiresult.in whatsapp - 9352018749

5 “@moiresyis

theory of

RS

A T L R T e T
L LV e

ATL-1
related to which

7.  Learning through reward and punishment is

learning ?
(A)  Social learning (B) Operant conditioning
(C) Classical conditioning (D)  Cognitive theory
?
mﬁﬁﬁmwm&:mmﬁ@maﬁm%mmﬁﬁmﬂﬁm% .
(A) QISR ERE g fwErTEd EuA
(C) TE g (D)  HAAHR fagr
8.  Which of the following is not a process related to learning during childhood ?

(A) Past experience (B)  Reflection
(D) Argument

uﬁmmﬂ%ﬁrﬁaﬁ@#ﬁmﬁmﬂﬁ%?

(C) Imagination

Errferfige 4 & -t e e R S
W B)  fdfee
(C) e D) T

amme Or

9. Which tests are designed to measurc the effects of a specific progr

training ?

(A) Personality (B) Intelligence

(D) Creativity

(C) Achievement
WW;@EM,%WHWW%%%RW%ME}
e el T & 2
(A) Ao | I«

N . (D) e

10. At which stage of development an individual féccs the problem of vocational

adjustment ?

(A) Old age (B)  Adolescence
,5" , (C) Childhood (D) Infancy
mﬁmmﬁﬁwﬁﬁ:mmﬁmwmm%?
() e JB  fereiaren
N (C) dreaE™T
G NDiesyLTE e
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Remedial teaching is used for which kind of children ?
A
:C) Fast learners (B)  Slow learners
) Gifted children (D) Creative learners
Wﬁmmm%m%%ﬁmm% ?
(A) T ¥ drE A JB U EE e
C -
i} (C)  wfawTeneht A (D) TEAETEHaT 4 ghad as
- Playway method of teaching is based on |
(A)  Theories of methods of teaching
(B) Principle of growth and development
(C) Sociological principle of teaching
(D)  Physical education programme
feretor &y 1 ez fﬂﬁi_fa?{? Fesm W amaia & )
(A) oo 9 fafii % fgerm
(B) 3 3R fawm =1 fagr
(©) T & worTeey g '
Dy YRR foen sy
13.  Who was the Chairman of Natj .
National Stee
A g el ring Committee on NCF, 2005 ?
N (B) Prof. Mehrotra
rof. Yashpal (D) Prof. Ram Murt;
TA. . TF., 2005 @I WA Reafir whyhy 3 ITT F o
?
(A) . R (B) Wi T
.
2 qIqTH (D) Wl T ofg
14. RTE Act, 2009 is for the children of which age group ?
(A)  5-12 B 12-18 |
(C) 7-15 D) 6-14
Aamz’ié aﬁlﬁw 2009%{1 argnqga;ma;f;—,mg >
(A) 5-12 B) 12.]8
/ (Cl.; 715 .. B 6- 14
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15.  Which of the following is not a physiological motive ?
(A)  Achievement (B)  Hunger
(C)  Thirst (D)  Sleep
frfetfiae o @ s e s w7 ¥ 2
S ITAf B @
©) =™ o) g

16. Which of the following is not a biological factor determining individual
differences ?

(A)  Heritability (B) Innate temperament

(C)  Parent-child relationship (D)  Physical health

<afeTa o 8 Fifa st o 3 @ - e W € R 2

——

(A)  HTETRAT - (B) SN @@
Jor  hares-ae T (D) iR amer

17. The cause of Down's syndrome is

(A) Trisomy-20 (B)  Trisomy-21
(C) XXY chromosome (D)  Trisomy-22
13T HARTIT T HROT §

(a)  frREEAT-20 B) FpREEr2r

Gy XXY I (O)  FPRE-22

18. The concept of reliability refers to

(A)  Objectivity of instructions (B} Purpose of measurement

(C) Consistency of scores (D)  Uniformity of scoring
foraaar s STEuRoT ¥ AN €
a) fee =t awgfred (B) T & I
< (0) TG R A (D)  TOFT W
@) RoiRESULT

QECTEPR 1111111 B P.T.O.
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19. Which of the following is not an example of projective test ?
| (A) TAT (B) SCT
! (C) Draw a Man : (D) MMPI
Pt o @ s i
| W& geor mmvrT T ?
C
&) ST | (B) ﬁsw qt &
. ML
S Fum oY e
20. Who propounded the theory of multiple intelligence ?
(A)  Howard Gardner (B)  Jean Piaget
(C) David Weschler (D) Erik Erikson
Tg-dfe F famr fee wfqaifea far 2 ,
JA)  FES e B) w4 frars B J:?é
‘A
) =fag AR (D) URe Tiwa £

21. The theory of learning proposed by Albert Bandura is
(A) Classical conditioning theory

(B) Cognitive theory
(C) Insight learning

b
! (D) Social learning theory
¢ .
; ST TG BT WA S w6 fer &
I (A) T s e (B) W fagr
() siagfe s JoI  gmitee st fagra
22. How many personality factors are proposed by Raymond Cattell ?
(A) 05 B 14
’ ' C) 16 - (D) 08
Yog et gRT v SAfwed FR WRaifaa fmd 1 € 2
L AR 05 B) 14
L3 > 6 (D) 08
- @& Jl TE | e BT
R .&93’3@ m’ oty in’diresult.-@atsapp -9352018749 -

LINA i ————— TR VT PR TR




indiresult.in whatsapp - 9352018749

ATL-1 9 L
23.

24.

25.

26.

QOINDIRESULTE

YOUR SUCCESS PARTHNER

Which of the following is not included in Maslow's hicrarchy of needs ?
(A)  Physiological needs
(B) Individualism and collectivism
(C) Love and belonging

(D)  Self actualization

Rt & Q W T ®) srEvaAe & qerEd o At T E 2

(A) 3w smEvEEan (B) IR TEH TIEAR
Jef T wa e (D) aneAfarE

Two opposing desires present in an individual at the same time is called
(A)  Conflict (B)  Frustration

(C) Anxiety (D) Pressure

T = | U FH W < faaid s i gl Feedl €

M EE | B) Pl
(€ fa=m (D) & |
Which of the following researches is associated with Stephen Corey ?
(A) Basic research . (B) Behavioural research
(C) Scientific research (D). Action research

R i e R Wi FR R § 2
(A)  STURYA T (B) SHAURRIHS 3FTHUH
) A MR (pr TR S

"Human development goes on for a lifetime, although two people are not equal,
bul;l the order of development remains same in normal children.” Which principle
of development does this statement point to ?

(A) Principle of continuous development
(B) Principle of ir}terrelationship .
(C) Principle of uniform pattern indiresult.in whatsapp - 9352018749

(D) Principle of general to specific responses
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27.  Which is the final stq

Aol
W
v

S &
Sen e

~ ‘:‘_ 3
SRR

e

ge of cognitive development according to Jean Piaget ?

(A)  Sensori e
© P Ort motor stage (B) Formal operational stage : é
o O?t-operatmnal stage (D)  Concrete operational stage }%;
: hqm*mmmfwmﬁaiﬁnmﬁmﬁ%? g
(A) T Teirm sy : 4
28. The Father of Genetics is : ‘.*;“.
: |
(A)  Gregor Mendel (B)  Thomas Hunt Morgan : ,ij
(C)  James Watson (D)  Charles Darwin ' {
SHTR & e § ’i
A TR A . (B)  9M¥ &= "I ‘§
5 5|
(C) S aTEEA (D) = g o
29. Who propounded the Psychoanalytical theory of Personality ? i
3l Abrgham Maslow (B)  Sigmund Freud 4
(C) Carl Rogers (D)  Jean Piaget %
(A) TR Il B femue we
(C) T T (D) ¥ frE=
30. A 10 year old child has mental age of 12, then what would be his1.Q. ?
(A) 100 (B) 90
© 120 (D) 110
TH 10 JUIT AeTeh H AR A 12 ¥ @ IqR ghg-oiy g
100 B) 90 '
(i L 1
120 (D) 110 0% 5
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LANGUAGE - 1

ENGLISH

There are 30 questions in all in this scction.

All questions are compulsory.

o
&

(A} verbal and visual reading

(<€)

£
s

Thea " . .
The two kinds of reading skills are

(B) slow and fast reading

silent reading and reading aloud (D) all of these

Whach of the following is a criterion for selection of a writing task to be given to

the students to develop their writing skills ?

(Al Interest of students

(C} Both (A) and (B)

{9
U9

(A} Audio resources
(G} Computers
33 Who h
(A) Edward Sapir

(C}y Noam Chomsky

(7]
o

mouvate the students ?
{A] Response vanation

(C} Reinforcement

(Y]
O

{A] Morphology
{C} Phonology

(B) Level of the class
(D) None of these

Multimedia resources do not include

(B) Video resources

(D) Pens and pencils

as given the concept of Transformational Generative Grammar ?

(B) Roman Jakobson

(D) Ferdinand de Saussure

Which one of the following skills uses praise words and approving statements to

(B) Explaining skill
(D) Lecturing

The study of speech sounds is called

(B) Etymology
(D) Chronology

37. The phoneuc symbol for the underlined sound in the word ‘shy’ is

@ | B) s
€ tf (D) d3
38. Choose the correct phonetic transcription of the word ‘boy’:
(A} /bsl/ (B) /bdl/
() /b3l/ {D) /bol/ .

J'- aos32 |EREHIEN
@INDIRESULTE
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39. “The peon opened the gate.” The correct passive transformation o n%!
will be f%
(A) " The gate will be opened by the peon 'f:
(B) The gate was opened by the peon 3
(C) The gate js opened by the peon J’E
(D) The gate has been opened by the peon 7{%}
40.  Which question form g correct in its structure ? j
(A) Do you go to college yesterday ? ;
(B)  Does you 80 to college yesterday ?
() Did you go to college yesterday ?
(D) Did You go yesterday college ? ‘
41. Measurement is a brocess o) S evaluation.
(A)  Qualitative (B) Quantitative
(C) Linear (D) Unitary
42, i

Controlling, planning, organising, leading
(B) Leading, organising, controlling, minding
(C) Organising, controlling, leaving alone, commanding
(D) Planning, organising, leading, controlling
43. The Language Laboratory is used for teaching
(A) Speaking skills (B)
(C) Both (A) and (B) (D)
44.  Which of the following is not true of CCE ?

Listening skills
None of these

(A) It focuses on co-scholastic areas also

(B) It promotes holistic development

(C) Itis time consuming and Punishing

(D) It reduces stress and anxiety of the students
45. Evaluation of language profi

ciency is done through tests designed to evaly ate
which of the following skills ?

(A) Listening, Speaking, Reading and Writing
(B) Listening, Reading
(C) Speaking, Writing
(D) Writing

46. Which of the following words ig Correctly spelt ?
(A) Vaccum

(B). Vaccuum

(€) Vaacum (D) Vacuum

* 49632 [HIENMIIN 1o .
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Passage { Q, Nos. 47-81)

The folk dances of Rajasthan are H\‘“"\h and angigtng. They e bl b e you
to tap a foot or two along with the dancers. Rajasthant doanven aie cane ey tolk
dances. Their arigin s in rueal owstoms and traditions These raditnial dioiees of
Rajasthan are absolutely coloneul and tvely. They have their owie aigiilicanee il

style. They are attractive anl skiltul, They ave engaved hy every age gionp The peaple
of Rajasthan love their folk dances,

47, The words nviting' and ‘engaging' are

(A} Nouns (1) Adveirhs
(€) Adjectives () Prononing
48.  The sentence, The people of Rajasthan love thaeir tolls dances" is i the
(A) Stmple present tense (1) Present perfoct tense
(C)  Simple past tense (1) Pant perteot tenne
9. The word ‘Rajasthan' is a/an
(A) Common noun (HY)  Proper noun
(C)  Collective noun (D) Abstract noun

S0.  Which one of the following sequences has the three degiees of (he adjectivea in
their correct form ?
(A)  Lively, more lively, most liveliest (1) Lively, livelier, liveliest
(C)  Lively, more livelier, most lively () Lively, more lvely, liveliestly

S1.  Which of the following phrases has a determiner in it 9

(A)  Customs and traditions (1) Colonrful and lively
(C) Attractive and skilful (D) The folk dances
52, Which of the following is not a principle of language teaching ?
(A)  Prninciple of naturalness (B3)  Practice and drill
(C) Learning by doing (D) Copying and pasting

S3.  Multi-line approach consists of
(A) use of models
(B) reaching the same target from ditferent directions and means
(C) selection and gradation
(D) all of these
54.  Which of the following is true about the (“nruuunut'-t'lll:l"l‘l‘alzmlull()_u method 7
(A)  Mother tongue is used while teaching
(B) Form is more important than content indiresult.in whatsapp - 9352018749
(C) Rote learning is encouraged
(D) All of these
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55. Which method is also known as the natural method of teaching English':é

second language ?
(A) Substitution method (B) Bilingual method

Direct method
s student-centered ang

(C) Grammar-Translation method (D)

56.  Which of the following English teaching approaches i

student-oriented ?

(A) Communicative approach (B) Situational approach

(C) Structural approach ’ (D) Allof these
Passage ( For Q. Nos. 57-60 ) :

We all use roads. We walk on them or drive our vehicles on them. We go across them;
or walk on the pavements along them. In cities there are footpaths or pavements along
the roads. Those who walk on them are called pedestrians.-It is safe to use footpaths if

we are walking.

Roads in big cities are very busy. They are crowded with all kinds of vehicles like

buses, trucks, cars, three wheelers, motor cycles, scooters, bicycles etc. Slow moving |

bullock carts, horse carriages, etc. can also be seen there. Walking and driving on

such roads is always very risky. People in a hurry ignore the rules of the road and

cause accidents. A lot of people die or get injured in such accidents everyday. The best

way to avoid accidents is to obey the rules of the road.

57. The synonym of ‘pavement’ is

(A) Road (B) Traffic
(C) Footway (D) Walk
58. The antonym of ‘busy’is
(B) idle

(A) occupied
(D) * freedom

(C) tired
“The people who walk on a

59. Find out the word from the passage that means,

pavement”.

(A) Bullock carts (B) Horse carriages

(C) Pedestrians (D) Vehicles

The verb form of the noun ‘driving’ is indiresult.in whatsapp - 9352018749

(B) undrive

60.

(A) drive
L
(D) none of these

J' (C) driver
S0 T L -1
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SECTION - III .
LANGUAGE - II (.7/' '
ENGLISH /Jj INDIRESULTHE
There are 30 questions in all in this section.
All questions are compulsory.
61.

Which of the following contains the same vowel sound ?

(A) Bite — kite — site (B) Bill — bell = ball

(C) Like — look — luck (D) See — say — sick

62. The communicative approach in teaching of English has been practised and
developed in
(A) India and China (B) India and Sri Lanka
(C) China and Japan (D) France and Britain
63. Which one is a challenge in the process of teaching English language class ?
(A) Less interesting teaching style (B) More interesting teaching style
(C) Reasonable time management (D) Good lesson preparation

64. The excessive use of mother-tongue is
(A) helpful in learning English
(B) a challenge to learning English
(C) _a substitute of learning English
(D) none of these

65. “The teaching material should be in accordance with the mental age and should

have relevance in real life situations.” The statement refers to
(A) Principle of habit formation

(B) Principle of selection

(C) Principle of gradation

(D) Principle of controlled vocabulary

Passage ( For Q. Nos. 66-70 ) : indiresult.in whatsapp - 9352018749

Kalaripayatt is a traditional art practised in Kerala. Though claims of its heavenly

~ origin are disputable, foreign travellers mentioned Kalari being practised in Kerala as
~carly as the 13th century, which makes it the oldest martial art to be in existence.
e Kalar is considered to be the most complete and scientific martial art and is the
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mother of all martial arts. Bodhidharma, a Buddhist monk from India, iulr('}d‘; :
Kalari into China and Japan. What makes Kalari unique is the fact that it is mﬁf':f

more than a martial art. A student of Kalari learns philosophy. medicine, attack 4.4
where he has to n(tﬁéﬁ

sclf defence and, above all, learns how to avoid confrontations,

somebody or defend himself.

66. A student of Kalari learns ....c....... e philosophy «ooceseereeree: attack and
defence. %

e

B Sk g g L -
R G AT et s T TR
LA KRR A R n:i‘?-"‘.ﬁf.\‘%-

'gu

Fill in the blanks with the help of given options

(A) neither — nor (B) either —or

(C) not only — but also (D) as—as

Karate belongs to Japan.

67. Kalaripayatt belongs to India .....c.cooveeeee
(A) that (B) whereas
(€ if (D) when A

68. Some people still ... of Kalari’s heavenly origin.

(A) claimed (B) claims

(C) claim (D) were claiming.
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69. Kalarl ........ooeeeen the oldest martial art to be in existence.

(A) s (B) was

(C) were (D) are

70. The most suitable title for the passage is

(A) Drawing and Painting (B) Mother of all Martial Arts
(C) Table Tennis (D) Lawn Tennis
71. ‘Petrarchan’is one of the categories of
(A) Ode (B) Elegy
(C) Sonnet (D) Drama
72 The number of pure vowels is );
(A) 9 (B) 10
() 11 (D) 12 |

73. p,t. k0,s [, h, t]/ arecalled
IR (A) Voiced consonants (B) Voiceless consonants
(C) Pure vowels (D) Impure vowels

>
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74. Choose the correct phonetic symbol for the underlined sound of the word :
Water
(A) /wot] /

(B) /[west/

(C) /wd:td(r)/ (D) /wDlry:/

75.  Find out the word which begins with different sound from other given words :
(A) Reach (B) Reap
(C) Rich (D) Read .
76. “When to the sessions of sweet silent thought.”
Which literary device is used in the above line ?
(A) Alliteration (B) Personification
(C) Simile (D) Metaphor
77. What device is present in the line “If ought of oaten stop or pastoral song” ?
(A) Irony (B) Assonance
(C) Paradox

(D) Alliteration
78. “She was a phantom of delight.”

Which literary term is used here ?

(A) Elegy (B) Simile

(C) Metaphor (D) Sonnet
79. “As green as emerald” is an example of

(A) Allegory (B) Hyperbole

(C) Satire (D) Simile

80. “Peace hath her victories
No less renowned than war.”

What is personified in these lines ?

(A) Victories (B) Renowned
. (C) Peace (D) Less
81. ' With coveeeieeenen students come to see the tests not as a punishment but as a
useful feedback. The classmates work together for ‘common intellectual welfare’ :
(A) Self evaluation (B) Group evaluation
(C) Peer evaluation (D)  CCE evaluation
'82. “What do you think about the two candidates in this election ?” This is an
example of _
(A) Open ended question (B) Close ended question
(C) Both (A)and (B) (D) None of these

K indiresult.in whatsapp - 9352018749
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83. Which test items consist of a stem, the correct answer, keyed altern 3
S Aliye &
distractors ? : ‘&

(A) Diagnostic test - (B) Multiple choice test

(C) Close test (D) Oral test
84. The remedial English classes are very helpful for the students who are '
(A) below the age of 18 years
(B) unable to achieve the required grades
(C) poor and can't get formal education
(D) rich and can afford computer
85. Feedback is always
(A) Summative (B) Formative
(C) Annual (D) Objective
86. “Two roads diverged in a yellow wood
And sorry I could not travel both
And looked down one as far as [ could

To where it bent in the undergrowth”

The rhyme scheme of the above lines is

(A) abaab (B) AAbaa
(C) ababa (D) Abbaa
B7. lasciaoemass give him an answer if he had asked me.
(A) can (B) may
(C) could (D) might.

88. Choose the alternative which best expresses the meaning of idiom / phrase
underlined in the sentence : :

“I met him after a long time, but he gave me the cold shoulder.”

(A) Scolded me (B) Abused me
(C) Insulted me (D) Ignored me

89. Which literary term refers to the problem or struggle within a story ?
(A) Conflict (B) Drama
(C) Action (D) Climax

90. A form of drama that is intended to amuse and that ends happily.
(A) Tragedy (B) Comedy
(C) Biography , (D) Irony
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61. T N SN W e meniy Ay wah 1 oE & e T
wafd ?

(A) IO %ﬁﬁ: (B) qcae] fafy:

(C) UISaYss fafy:
62. oA e wivery aifd —

(D) HUSRE fafd:

(A) SO

D (B) H3IH
(€ & (D) &
63. USRI ward —
(A) TER A AaETed (B IEoE TRAmEST
(C) IFORT TAHETd D) iR fafrey R
64,  FIEATEIHUOENGR ST AR foreres: faferd freot wweafa, @w am
fm 2
() FrrerTee R (B)  WHR RRony
() SRS e () b foreromg
65. T TS W ~
(A) o FacTHHa B) 9 famy
) T BEr ‘ (D) { indiresult.in whatsapp - 9352018749
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66.

68.

69.

70.

7L

12,

el

“ (#NDRESuLTE A
frr=fafaas smfstd v smyRigea Fenfysm: wen (66 - 71) FHAL fﬁ
% fo favmvE g | sri v g fasreea wEr g | S Sy
fanifn ot forameresy T 1 ot | e AEE TH TP A vy
wiy g | Auties anfasern: fafean | ETEST: ﬁ"“f’?fqmwf“
aantach: Terfafastat omupens: srefmio ua faded: I fafeet: | H§Wﬁﬁ1

FrETETEn fau wafq | sl s qevifs WAEEREAOHE AT ;|
‘I’ 3 & fanfw: s 2

e

£ |
45

(A) 9T (B) fretar
(C) u=I (D)
Tosmae’ @ afu-fawss: s —
(A)  TEIEE + | B) fawmRd s U
() T + Ea o) fosm + @
"FHOT: 3T & A 2
(A)  F + FEE B F+ ¥
@ F+TE (O) F + W
CEsTTRCrE anfeR: fatean | 2T e favvuine favieeg R 2
(A) At B) FH
() 3nfa=Rr: (D)  fafedn:
(A) T e (B)  TIth: STHME:
(C) b FHITH (D) VTR ATA
gt W Wi FRIEE Al s Fyah" SR AT STATEH, AR —
(A)  TEE: B) A
(C) WHd (D) @
ftataags: afaarer e [Ed —
B 1R * 1 SR fomm 1"
(A) HH B) ol
(C) M (D) o
spefafa: d@em ata —
(A 820 (B) 28
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A 93 90 g, ‘
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76. TORHAN: I F: OHIG: HRF 2
(A)  Fesiliewmrs: (B) FEEEE:
(C) Wmm (D) OIONEHTE:
77. 'dER’ 397 9 ARG -
(A) 3TETEE: (B) TR |
(C) =H=FHH: (D) fomaf:
78.  WEA: IF F: WAL WG ?
() B 9
(C) G (D) IR
79.  ‘wad]’ 30ad 1 favie: 3Rd ?
(A) JaEEgaEH, (B) ﬂﬁ?ﬂm
() SR (D) el
80. ‘M’ 3A feh feag L ? ‘
o et B e |
: - D i {
(©) THAHTE a0 BT e
81,  ITEHGEY wgwE o T I 3
() S B T
e (D) 9™ §
@/}!NDIRESUHE =
Se32 | AN P10,
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62, mﬁﬁ‘:.mﬁmﬁm:,maﬁmfaﬁ::sﬁ s afa —
(A)  aTI ferequy (B) sqeroy freTor ?;!ﬁ
(€) Fa= forermy o) @ *sf
83. Ml WBEi TRV yaw A Fah — *f
G B T T
(C) famnfr (D) GTERIAH :
84w A @ e Fa | e e o e e, A TR Ty n
TR FE: alq | 37 Y TR Wi —
(A) TRR foemea: (B) E{g‘f%ﬁ-‘u‘;q:
(€) ﬁ'ﬂ:m (D) Ry
8S. Wqﬁmmmmmﬁaﬁ?ﬂﬁmm W%{Fr%wzaﬁm
Teheafd ? 1
(A) . TR} e (B)  WETHR ulied
(C) feifiaa gdten (D)  Framurensh odtem
86. WrHAfafyAT fremey: HEed vyafa & 2
(A)  FUHUEHERIL (B)  HHIEHA YRR,
() faare FEpRE (D) ITAETEERI
87. '3l %ol 3T Il & |’ 3 A GEhArers fod —
() FTF T B) T wet dad
(G, T D) 3 e
88. TIQOTAMT oo | frrer Qg —
(A) T B)  foremr
(C) @&U3: (D) Tﬁ
go. ‘“31E [T GBIH'' 3 A areAuRadT wafq —
() T T T (B) T Tes gBI
(C) T GEIeI qaIH D) e e
g0, aTEANE WeyAd - TR gRa: o gty —
(A) TR ofia: & |t (B) TR ufE: s afy
(C) I ufa: & i T i
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SECTION - IV / @US - IV >
' (#)INDIRESULT
MATHEMATICS / THUT ceTrT FARTN IR
There are 30 questions in all in this section.

All questions are compulsory.

79 1§Ug 3 el 30,99 ¢ |
Tt we AfE

1. "Mathematics is the mirror of civilization and culture.” This statement is said by

(A) Bacon (B) Berthelot
(C) Hogben (D)  Bertrand Russel
iU WAL AR W e )" ag e e e 2
(A) S B) TR

Jgr EE D) v WA

92. “The act of combining separate parts.” This method is called

(A) Analytic Method (B) Synthetic Method
(C) Laboratory Method (D)  Project Method

 ayeT- 3T I @ SeAn1” 98 fagr el §
() feageisor fam o e fatg
() e fafer D) e faty

93,  The maximuim SUccess of remedial teaching depends on
(A) time and duration
(B) the correct identification of causes of problem
(C) knowledge of linguistic rules
(D) remedial teaching materials

e Faeon ) gD T it et ®
v @ Fr W By’ T S FROT e W
" () mﬁqrﬁ$3{ﬂfﬂ (D) STERTHS foreor qolt w
Q’O !NPIBCE‘§QE1:E [5:53-] indiresult.in whatsapp - 9352018749
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94.

95.
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Thirty SiX, forty six,

RO 3

68
.- in mathematics :
Arrange in correct order the steps of evaluation in

1. Identification of situations

Selection of objectives

2
3. Selection of evaluation methods
4

Interpretations of evidences /

5. Constructions of evaluation devices 4

I, 5) :

A) 2,1,3,5,4 P > 3,4 5,1
(C) 2,3,54,1 o) 32
nﬁmﬁqa'miﬁmm‘fwwﬁwm'

1. uftferfagt &t qedr Qe

2l

¥ e RSO

N

4. U Sl SHTEAT

-
4 =

5. HodiHA fafugt @1 FETT ;
J& 2,3 1,54 o

c 235 4,1X (D) 3,2,4,5 1% 4
d the following numbers : “]
A student was asked to rea g ) @v‘s‘ y%ﬁ[é
306, 406, 408, 4020 N ’\;
wy

He reads as follows :
forty eight, forty twenty

son for error in reading is that

The rca
the student does not like maths class and finds the class boring -

(A) . ;
B) the student has understood the concept of place value and its usc‘a!
(©) the student is not fit for study of maths

(D)

comfortable using two-digit numbers only

([
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(C) B T 1 s e & o S

D w;mﬁuqmﬁﬁmﬁ?ﬁm%msﬁmﬂ-mmaﬁﬁ
U1 3TEH Tl 2|

96. How many bricks of measure 25 cm

x 16 cm x 10 cm are required to make a
wall of size 20 m long, 5 m high, 50 cm thick, while there are two doors of siz
e

2m x 15 m in the wall ?

20 * $X Sp
(A) 11750 (B) 11000 g—w\
§o s

(© 117500 (D) 97500 150 @
3y

20 Hrex o, SﬁaﬁmsowmﬁﬁaﬂmﬁﬁWQﬁax 15 ey
3 ¥, mmwxwwxwﬁm#mﬁﬁmﬁ

B) - 11000 817 Yy XI‘;I !
YAy 11750 ( - |
(D) 97500 L )'J"Bf"')/
(-7/ :(I:\).ID:;EO;ULTE aiadeg &
uuuuuuuuuuuuu IE ._—:]—-1 o
522 [DEMINI [s55 0
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97. In given figure Op . JoRS =140 i ;
| IRS, 2OPQ = 100° and £Q. - then £pog;
140
o —> P
100°
Q
R 8o (B) 60° i
(€ 70 (D) 50° i
> > ~ ° L\ A.gi
<& 74 fax § op| RS, 2OPO = 100° T LORS = 140 at APQme@
s, : %
7
~ —— ':Eg
o
(A) 800 :
() 70° (D)  50°
a8 For multiplication of two decimal numbers, such as 04 x 02 = 00§§
appropriate teaching-learning tool to explain the concept is 7'
(A) Dienes block (B) Number chart 43
(C) Counting star (abacus) (D) Graph paper "';zt;
SR
ﬁm#@rﬁﬂwﬁﬂwxo-%o-oaaﬁm’ ﬁ;rngﬁ%fm?
\-—“_\ b
Foraqor- ST WA &
A gt =i® (B) T urs
firarT (FEHH) © (D) W Y7

@) o
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100. If monthly sa) L
Y salary of a person is R, 24,000, central angle of the sector, showing
the expenditure on education by

pie-chart is 60°, then the expenditure on
cducation is

(A)  Rs. 4,000 (B)  Rs. 8,000

(C) Rs. 3,000 (D) Rs. 6,000

Wmﬁﬁmmﬁmﬁmza,oooso%imfwmm&mmﬁm_www
'Y | “ (;U\D
et s & v 60° b, @ 3w o woag d %“T.,&—ﬂ,ovo
| s
AT 4,000 Fo (B) 8,000 Fo
(C) 3,000 %o (D) 6,000 %o

101, P takes loan of Rs. 9,000 at the rate of simple interest 8.5 % for 2
' years ang

8 months, then total amount to be returned by him will e

(A) Rs. 2,040 (B)  Rs.3,060
° (C) Rs. 11,040 (D)  Rs. 12,060
F/;// INDIRESULTE indiresult.in whatsapp - 9352018749
a2 (RN 858 -
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L _z*% ""‘ﬁ T o
. 72 ‘ -»3‘5 Ar
(G
7%, N eherf i i eatinde
S . . 20l
\We (A) 2,040 o (B) 3,060 ®° 2
y 0.
LA
S 11,040 %0 (D) 12,060 ®° o N°
——_'__________;

102. A cylinder of height 4 cm is formed after folding ( wfthout Ovcrlﬂppingf‘f%j

; . ¢
then curved surface area of this cylinder, g .ﬁl

N

22 cm x 4 cm rectangular paper,

b'
(A) 88 19 Cm2 (B) 88 cm _;‘!-‘:'-*"
n
2
() (C) 176 cm? (D) 176 cm
TE 20 A « 4 A & STAAER FA w A F (Far ), T 4 B
-
PN ~ 1 ST FATET TAT| W A FT THYS FT TG &M W she E g
);4’\7‘""""-’ g ‘;#1\# 3¢ 4
73 2 . e
1.3 (A) 88mn cm 2 @f 88 cm 28 T :
m'\ﬁ s ’*’Y . 5 " 76 3
_ Xx™ (€ 176 mcem (D) -

267 e 103. In the given figure lines AB and CD are intersecting at point O. If OF and OF_
angle bisectors of ZBOD and £COB respectively, and if ZEOD = 25° then ZCOFi
equal to - ' "

~ty Yoo
A D Q~x N ))

L C B
(#)NDiREsuLTE L

(A 130° (B) 65°

(c) 105° - (D) s0°
indiresult.in whatsapp - 9352018749
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ﬁﬁﬂamﬁWﬁABm Co.wommmﬁ|quo;‘ﬁm Orm'

/BOD T ZCOB% WM § wd o ,pop = 25°, S COF AL ¢

(A) 130°

(C) 105°

50°

(D)

104. Area of a square field is 6400 m?
5 rounds on its perimeter, is
(A) 320 m.

(C)

(B)
(D)

160 m
1:6 km

. The distance travelled by a person,

3-2km

n b°
(D"

in

6o
go

@mﬁmmmmmooaﬁﬁ‘r%n@wﬁﬁmwﬁmﬁqﬁﬁﬁm

5 TF O W g g al
(A) 320m (B) 160m
(Cyr 16 km (D) 32km

105.

20 litre/minute, is
9 minutes

(A)
(C)

(B)

60 minutes (D)

. T
-\ﬁ'o L4 om
“

Time taken to fill a water tank of size 2 m x 1-5 m x 1 m, by a tap with speed 100 ©

1 hour 30 minutes

2 hours 30 minutes

omx 1-5mx 1m0 F TA & & H TF T 71 20 A/ foe 9 1 § vl

o @ W ¢ v q M‘S.w
@A) 9fFe B) 19 30 e ,_..__..;‘l_w"’P
60 7 Hr 2w 3o
C-.'f/ INDIRESULTE
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106. The difference between the greatest and the lowest prime numberg of "'i
digits is \
(A) 88 (B) 86 q3 3
() 89 (D) 95 [ 0 31,
i
. N . N 7 -‘::2:
ﬁmaﬁrmaﬁamaﬁmmﬁmé ?,

(A) 88 86 B

‘i‘Bf /

FO 8 D) 95 _

107. If the cost of 12 dozen pens is Rs. 720, then the cost of 25 pens is

(A) Rs. 1,500 (B) Rs. 150 (o
(C) Rs. 125 (D) Rs. 1,250 % ,:
afs 12 gt AT 1 o9 720 T &, @ 25 Gl A G @M /@,@fpr | §

s o
(A) 1,500 %o (B) 150 o _——

SETREY
HAY

' y 125 %o (D) 1,250 %o

them, then the average weight of remaining students is

(A) SO kg (B)  37-5kg

&, d 99 99 BE H AW 97 gy
| e N
U\D ! £
(A) 5S0kg B 37 e 9 m 1 f}’
c) 30kg “ )\/q, i
( (D) 62.5 kg {(') ‘ -?;'
| . 40632 [HEVIHINIE % o
LA C»’?//) INDIRESULTH indiresult.in whatsapp - 9352018749 ‘i
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109 Ifa prod.uct is sold on 10% profit at selling price Rs. 330, then cost price of the %
product is :
A Rs. 360 (B) Rs.363
s (D)  Rs. 300

@aﬂIO%W@%‘W‘W%O&mﬁm%,a}wa@ﬂmﬂﬁ%
o
A selwe (B) 363 %o %\“

N\ A>
J?T 300 %o

In a school under 'shramdan’ camp, 12 students clean for 7 hours. If equal pal.rt
needs to be cleaned in 6 hours, then how many students will be required ?
(A) 14

(C) 297 %o

110.

(B) 12

© 16 . O 15

T foaem § e ffer % St 12 BT, 7 9US WETE i ¢ | AfG Ia & 9T
| 4~ _ax

6 o2 4 T =T A, A o T @ o A 2 P

P 14 | B 12 @

(C) 16 (D) 15

111. The non-terminating recurring number 0- 123 is equal to the fraction,

T B =
%
© = D ok I _
A3
ST ST W@ 0-123 & R i & TR
(e -
123 41 13
® ' 7000 S 33
1000 333 T';
A ' Al
7> ©) —3%% B 330
@INDIRESULTE indi It.1 hat 9352018749
N . 1nairesult.l.n whatsapp -
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(A) 4 coins of Re. 1 + 3 coins of Rs. 2
(B) 3 coins of Rs. 2 + 8 coins of 25 pais¢

(C) 3 coinsof Rs. 2 + 6 coins of 25 pais¢

(D) 2 coins of Rs. 2 + 3 coins of Re. 1 gH
50 U9 & 16 et & qoq @R
Y 1 ‘
(A) 1399 ¥ 4 fgas + 2 704 & 3 faFh ¢
G S
B 2 T % 3 faak + 25 04 & 8 fAFh
(C) 0 BT & 3 faah + 25 U0 & 6 faE
(D) 2@?‘1%2?&3&5”@1’1%3&:%
‘ i bcrqg-
113. The right descending order of the following numbErs =
325
3 --_,—)-—
(A %%1—5 B 13'7'6
25 3
2 253
© 237 o 223

SZ3 B 325
6'7'13 13'7°6
© 257 R
114 Thcvalucof—l——(2-§-—45 ,is
™ - 1o B -2
© "%% (D) %

s0s32 NI
C’Z)INDIRESULTE
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L
J 31!
112. The cost of 16 coins of 50 paise is equal to /b‘, !l.,\!p,lﬁg,sg!{[ﬁ £ i

g*'l,,
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9 ¢ 7 ¢ /178
A 10 ~(B) "l% -804 v 1.
17 =0 . Jo
© "3 . |
30

115.

116.

(A) 11111101 JBf 10101101,
(C) 10010101 (D) 11}01001
117. 1f 31PS is multiple of 3, where Pis ten's digit, then the greatest value of P g
A) 9 B) 3
€ 6 D) S E‘f : 33
- ‘ LR
AR 31Ps, 3 F W €, I P T AT ¥, A pw i v &
wf o B 3
C D) 5
) ‘ D) indiresult.in whatsapp - 9352018749
49632 Hlﬁl\ M [ss5]

The greatest number which divides 244 and 2052 such that it leaves remainder
4 in each case, is

(A) 12 B) 16

(€) 30720 (D) 15360

“@ﬁ@@@l.fﬂm‘x244m2052m‘wfamf?ma;ﬁwmﬁwﬁﬁ4m

\ L 10§ L :
T €, 7T W ¥ w2 m * _'_‘L:.Y Tqoay
¢S "i 1 6
By T,
A 12 o) 16 ® 84
L.
() 30720 (D) 15360 Sk
i sy
The digit form of one crore one lac ope thousand one hundred and one, is y
(A) 11111101 (B) 10101101 112
(C) 10010101 (D) 11101001

U Hg U T T & 0 W U F i w0 3

YOUR SUCCESS PARTHMNER
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118. Value of 25+12 x33-254+5

(A) 1216

(C) 416

25+12 x33-25+5 &1 01 &

o AT O @ I e € S 1§ 10 TF hl FEIA 7

H@T 60321045 H 3, 4 T4 5 % WM WHT &1 e ae &

(A) 1216
Jor 416
119. The least number which is di
(A) 1680
(C) 2520
UM 1680
(C) 2520
120. Multiplication of place v
(A) 60
(C) 60000
(a) 60
L
N (C) 60000

ey TR

«
s /Gf/,!oun lll.Btlss
s
AL
gl
B) 79%
nag.L
(D) 239% .,f)%g
g P
g o
qf,.),g/\'bq b
1
@) 795
1
(D) 239%
1 to 1O is

there ]
visible by the numocis =

(B) 840

(D) 5040

(B) 840

(D) 5040
(B) 600000

(D) 60000000

(B)

Jbr

600000

60000000
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alues of 3, 4 and S in the number 60321045 is equa
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SECTION -y 3 Y,
Javs.-y (#)WpiresuLTa

ENVIRONMENTAL STUDIES ; TaiavuT ave8a i

There are 30 questions in all in this section.

All questions are compulsory.

30 9V H T 30 WA §
T W9 afar £

21. When was Clean India Mission launched ?
(A)  2nd October, 2013 (B)  2nd October, 2014

(C)  2nd October, 2015 (D) 15th August, 2014

W@ Rd (A &4 Y[ [0 T 41 2

(A) 2 HH, 2013 (‘B)/ 2 FEFA, 2014
(C) 2 3R, 2015 (D) 15 T, 2014

122. Match the following and choose the correct :

@) Malaria (a) Entamoeba histolytica

(i) Amoebiasis (b) Mycobacterium tuberculosis
(ii) Tuberculosis (c) Plasmodium

(i) Cholera (d)  Vibrio cholerae

@) - ()-@  )-d G -(b)
B) - @-® @-@ G-
© O-@ @-0G (G-  ©-d

) O - )-@ G@-0 - :
)/ indiresult.in whatsapp - 9352018749
@moiresue
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123.

124.

M
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Frfetfaa at wpfera @t o o =

i) Wt () () Uz 3Tl FXCAGIMELD)
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The house made of snow is known as

(A) Igloo (B) Rain Basera

(C) Green house (D) Bascra
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District of Rajasthan, which shares its boundary with maximum number of

districts in the state is

(A) Bhilwara (B) Ajmer

(C) Barmer (D)  Nagore ?’;
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20, Select the festival from the following which is celebrated on the full moon of
Shravan ¢
(A} Diwali (B)  Holi
(C) Maha Shivaratr (D)  Raksha Bandhan
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127, ‘Sitabari fair ( Kumbha of Sahriya tribe ) is held at
(A)  Arnod — Pratapgarh
(B)  Chauth ka Barwada — Sawai Madhopur
(C) Kelwara — Baran
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128. State tree of Rajasthan is
(A)  Khejari ()  Neem
(C)  Peepal (D)  Amaltash
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129. Which of the following enzymes is not secreted by pancreas ?

(A) Renin (B)  Lipase
(C) Trypsin (D)  Amylase
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130. National Aquatic Animal of India g
a 2 :
i (A) angetic Dolphin (B) Whale
/ %5 (C) Lion D) .
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131, Principle of ‘Specific to General' is used in
(A)  Inductive method (B)  Synthetic method
(C)  Heuristic method (D) Analytic method
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132, Ranikhet disease is associated with
(A) Fishes (B) Honeybees
(C) Hens (D)  Pigs
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133. The biotic components of environment are
(A) Plants (B)  Mountains
/ () Fields D) Rivers _ | :
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134. Disadvantage of deforestation is
(A) Increase in soil erosion
(B) Decrease in soil erosion
(C) Increasein number of wildlife

(D) Increase in rain
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135. Opium is obtained from

(A) Papaver somniferum (B)  Aloe verq

(©) Cinchona (D)
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136. Following traffic sign indicates

L

(A)  Cross road (B)  Pedestrian crossing

(C) Railway crossing (D)  Narrow bridge
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137. Which deity (Lok Devta) of Rajasthan is known as ‘Deity of camels' 7

(A)  Gogaji (B)  Ramdev ji
« (C) Pabuji D) Bhomia ji '
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. India in the year
138. "The Wildlife Protection Act’ was enforced in In

(A) 1962 | 1972

() 1982 (o) 1992
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(A) 1962 \(/B)/ !
2
(C) 1982 () 199

39. The organisation which publishes the ‘Red Data Book' of species 18
139.

(A) ICFRE (B) WWF :

() IUCN (D) UNEP .
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~ who cotned the term ‘biodiversity' ?

W A G Tansley (B) E.Haeckel
) R H Whittaker (D)  W.G. Rosen
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141. Who is the first woman of the world who climbed Mount Everest successfully

from the Kangshung side ?
(A) Bachendri Pal (B)  Santosh Yadav

(C) Premlata Agrawal (D)  Arunima Sinha
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142. International Bio-diversity Day is celebrated on

(A) 21st May (B)  23rd May
/'- (€ 22nd May | (D) 24th May
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143. Radio broadcasting in India started in the year
(A) 1926 B) 1927
-(C) 1928 o) 1929
mu%ﬁ:ﬁtmaﬁsﬁmmaﬁ@ ?
1926 B) 1927
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i fVitamin‘-A ?
: : is caused by the deficiency o
144. Which disease ;
(B) Nightblindness '_ .
(A) Scurvy }
. 1 ets (D)  Beri-beri ;
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Whlch is the biggest planet of the solar system ?

49

W Jupiter B Satum

() Uranus (D)  Neptune
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146. Gregor Johann Mendel researched on
(A) Drosophila (B) Rat

(C) Garden pca (D)  Yeast
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147. Who was the first Indian astronaut ?

(A) Kalpana Chawla (B) Sunita Williams
- {C) Rakesh Sharma (D)  Raja Cheri
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148 Which of the following forts of Rajasthan in also known a8 ‘Chidiyatunk'? -
(A Ranthambore fort () Mechrangarh fort

(€)  Kumbhalgarh fort (D) Sonar fort
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149, Water day is celebrated on
(A)  22nd May (B)  22nd Scptember

(€)  02nd February (D) 22nd March
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150. Which of the following enzymes is present in saliva ?
(A) Pepsin (B) Trypsin
(C) Lactase (D)  Ptyalin
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